
 
FB21273 

Universal for Utility Racks 
Hi-Lift Jack Mount Kit 

 

 

 

 

 

                                                                                                                          

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

REQUIRED TOOLS 
¾ Wrench 

 

 

KIT CONTAINS 
Spacer ½” 

Spacer 1” 

Spacer 1.5” 

M12-1.75 x 100MM Bolt 

M12-1.75 x 110MM Bolt with Lock Hole 

M12 Split Lock Washer 

M12 Flat Washer 

Knobs  

QTY 

1 

1 

1 

1 

1 

2 

2 

2 

 

 

 
 
 
  



 
FB21273 

Universal for Utility Racks 
Hi-Lift Jack Mount Kit 

2 
    

1) MEASURE 
Intstall the supplied M12 bolt (without hole) 
and flat washer onto one side of your bed rack 
(Side 1). 
 
Install the 1” spacer onto the bolt followed by a 
lock washer and nut. 

 
 

Repeat this on the opposite side using the 1.5” 
spacer (Side 2). 

 
 

2) INSTALL JACK 
Install Your Hi-Lift Jack on, with the bottom of 
the jack, Side 2 of the vehicle followed by the 
1/2” spacer. 

 
 

Install both threaded knobs to secure your Hi-
Lift Jack to your bed rack. 

 
 
 

 
 

SIDE 1 SIDE 2 

SIDE 2 

SIDE 1 


